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| Semester B.Com. Examination, Nov./Dec. 2017
(CBCS) (2014-15 and Onwards) (F + R)
COMMERCE
1.6.b : Methods and Techniques for Business Decisions

Time : 3 Hours Max. Marks : 70

Instruction : Answers shouldcompletely be either in English or Kannada.

SECTION-A
-Answerany 5 (five) sub-questions. Each sub-question carries 2 marks. (5x2=10)

1. a) What are rational numbers ?

b) The LCM and HCF of two numbers are 180 and 3 respectively. If one number
is 27, find the other.

c) Solve forx : x + 3 + x = 5. e
d) Find the 10" term of a sequence 10, 12, 14 ..&*~
e) What is a square matrix ? Give an example.

2 A6 12 gt

g) How much interest will be earned on 7 2,000/- @ 8.5% simple interestin
2 years. e

SECTION-B
Answerany 3 (three) questions. Each question carries 6 (six) marks. (3x6=18)
2. Solve by the method of elimination:
o9X + 6y =3
2X -5y =16

L

3. Find the sum of the series 99 + 101 +103 ..... 1o 25 terms.

4. What would be the amount of Compound Interest (Cl) on 2 5,000/- at 5% rate of
interest p.a. for 3 years ?

P.T.O.
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3 4 7

5. Showthat| 2 1 3| =-40.
5 =142

6. Find:

i) TD, ii) BD, iii) BG on a bill of 10,450 due 3 months hence @ 5% p.a.

SECTION-C
Answer any 3 (three) questions. Each question carries 14 marks. (3x14=42)
7. a) Divide ¥ 1,600 between A, B and C, so that B may have ¥ 100 more than A
and C # 200 more than B.

b) The weekly wages of 30 persons consisting men and women amount to
%3,800. Each man receives 7 140 and each woman z 100 as wages per week.
Find the number of men and women.

8. a) Solve by formula method
x2 - 3x = 10.

b) The sum of 3 terms in G.P. is 14 and their product is 64. Find them.
2 4 4

9. a) lfA= 4 2 @ prove that A2—8A —207=0.
4 4 2

b) Solve by Crammer’s rule
X-y=6
2x—15=-3y.

10. a) If 12 pumps working 7 hours a day can lift 2,800 gallons of water in 20 days, in
how many days can 20 pumps working 9 hours a day lift 3,000 gallons of water ?

b) A bill for ¥ 14,600 drawn at 3 months was discounted on November 1 1 forz14,544.
If the role of simple interest is 4% p.a., on what date was the bill drawn ?

11. a) Find the amount of annuity if payment of ¥300 is made at the end of each
year for 4 years at the rate of 10% p.a. compounded yearly.
b) Find the co-factors of matrix of A.
5 2 3

A3 12
Th2d
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IR TR 2T YUBHINEN L0GOR. TS YUTFITWo DT S0BNED, (5%2=10)

1. a) a@n’m% Rosgnsd Q0T3S0 7
b) QUwd _ﬁoaﬂ;sﬁeé ©.79,8. 08 T, & s goesen 180 #0823 ST, BoBY 208D
R083 27 850 SR 0T B33 0B TOBOEEOND.
c) xdékasﬁaﬁ’o:x+3+x:5.
d) 10,12, 14..... g0 103 BRI FoRLRO0.
e) Jnr SneE DOTTERI P NTRROE EE.

T2 4 5 2 3
f) A= [6 7 8]B=[1 4 2] =T33 A + BB 30mE0000,

g) 72,0003 0ee38.5% TRBOSBODCE 2 BRFNVY, oz everse] NYRWIITO ?

NFIN-W
CIRRTRER S BHRT LZ0%. B303R0R0 BFRR 6 03T, (3x6=18)
2. 3HOI0D 5%@0&305. VRN
5x+ 6y =3
2x—5y =16

3. 99+ 101 +103...... Feedcdd> BB 25 BN BT FORBRD.

4. ¥ 5,000 T 3oedd IR 5% TR BOTY 3 SRS T 238BOIRET FOTILRCD.

8. 4.7
2 13| __ 40 aozEneon.
== s )

6. 7 10,450 33(Fw00) Soms BooRaD e AT 5% WHII0E B FINTZNE)
FOTEY &RO0D.
i) TD ii) BD i) BG
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NLTIN - 2
CCNRYTTTR BT ggﬁ@ﬁ VB0 TS I 14 @osnsh, (3x14=42)
7. @) % 1,600 1) A, B &35 C nen 33 89NS02 Toes.
‘B'rt ‘A’ ho2 100 2 ﬁ?saaﬁ ?03_30 ‘C' ‘B’ hoz 200 % é%ﬁ Qereesd. :
b) momRch 8y TBonATNTSRER0E 30 B0 2,000 TOB BRGeI0 T 3,800 BNTST,

T MOt LOTO mdﬁ 140 2 rﬁ%iaigt O T Tonad wossd mdi’i_ 100 3 rfeﬁaigt
ém.‘)od.nﬁ TRETS r’ozb",-\;d BB BONAT ﬁo&%ﬁ@d@t FOTBISHR0200.

8. a) :ira_%daii WP VR

=~ 3x:= 10.
b) momegs 3R Bth BEne Beg 14 202 e ‘bm@u@ 64 &T0 &3 Ten o)
BORIEBCD.
2 4 4
9. a) A= j i ; TS A2 — 8A — 20/ = 0 205 EReod,

b) @S aojam_dzdg{ WER R
3X-y=6
2x—15=~-3y
10. a) 12 moYnisd ORE7 notdnidod 20 HIRSY 2,800 MO QSR o BRBHT, 20 oz rish
QI 9 notdnvos, 3,000 MR’ TR o) BREED DT DI/ tIesonogs ?

b) 14,600 7 1 B0 (3) 8oy -&o&%ocbﬁy 4,544 ¥ non SS0wot 1180w
BOOCIWREWBD. BTP VRO BT o&F B4% ST BOORODTY WO BT 0RO ?

11. a) T SR dpdadd T 300 n’@’wél RRE NS T TRRSTS Fe. 100 BN WG
DREBR diaoodmeasmdd’(compounded) ATOR RRERIE B[R, éotéaéo@owe

b) A=

- W o,
N = N
- N W

| =T, BRI’ ai:a%ém—igt BOTEIEEBOND.




